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1 chocolate bar costs the same as 6 sweets.
4 sweets cost the same as 2 stickers.
1 sticker costs 30p
How much does the chocolate bar cost?







Answers
£2.40 divided by 4 = £0.60 = ¼ of £2.40
¾ of £2.40 = £0.60 x 3 = £1.80

¼ of £6 = 600p divided by 4 = 150p = £1.50

I would rather have ¾ of £2.40


5   50p coins = 250p = £2.50      This is more
12 20p coins = £2.40   
(mental method 12x2=24 so 12x20 = 240)



2 stickers cost 30p x 2 = 60p  = 4 sweets.

60 divided by 4 = 15 so 1 sweet costs 15p

6 sweets cost 6 x 15 = 90p
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Which would you rather have,
three quarters of £2.40 or one
quarter of £67 Explain your
reasoning

Which would you rather have
five 50p coins or 12 20p coins?
Explain why.

1 chocolate bar costs the same
as 4 sweets.

4 sweets cost the same as 2
stickers

1 sticker costs 30p.

How much does the chocolate
bar cost?




